
Họ và Tên: Lời giảiThêm và trừ các số hợp lý

Toán Học vn.CommonCoreSheets.com 2 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Câu  trả  lờ i

1. 130

2. -14,3

3. 120,16

4. 123,7

5. -61,619

6. 3,7

7. 79,7

8. 38,3

9. 86,209

10. 21,79

11. 113,857

12. 52

13. 4,085

14. 169,091

15. -41,4

16. -43

17. -15,226

18. 91,6

19. 68,4

20. 21,26

Giải quyết từng vấn đề

1) 83 -  (-47)  = 130

2) 75 -  89.3  = -14,3

3) 28.16 + 92 = 120,16

4) 81.7  -  (-42)  = 123,7

5) 31.6  + (-93.219)  = -61,619

6) 83 + (-79.3)  = 3,7

7) 35 -  (-44.7)  = 79,7

8) 9 + 29.3  = 38,3

9) 66.07 -  (-20.139)  = 86,209

10) 98.8  + (-77.01)  = 21,79

11) 36.007 -  (-77.85)  = 113,857

12) 12 -  (-40)  = 52

13) 29.085 -  25 = 4,085

14) 75.091 -  (-94)  = 169,091

15) 33 + (-74.4)  = -41,4

16) 50 -  93 = -43

17) 26.974 + (-42.2)  = -15,226

18) 46 -  (-45.6)  = 91,6

19) 75 -  6.6  = 68,4

20) 31.68 -  10.42 = 21,26
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Giải quyết từng vấn đề

123,7 120,16 130 86,209 21,79
113,857 -61,619 79,7 38,3 3,7

-14,3 52

1) 83 -  (-47)  = 130

2) 75 -  89.3  = -14,3

3) 28.16 + 92 = 120,16

4) 81.7  -  (-42)  = 123,7

5) 31.6  + (-93.219)  = -61,619

6) 83 + (-79.3)  = 3,7

7) 35 -  (-44.7)  = 79,7

8) 9 + 29.3  = 38,3

9) 66.07 -  (-20.139)  = 86,209

10) 98.8  + (-77.01)  = 21,79

11) 36.007 -  (-77.85)  = 113,857

12) 12 -  (-40)  = 52

Câu  trả  lờ i

1. 130

2. -14,3

3. 120,16

4. 123,7

5. -61,619

6. 3,7

7. 79,7

8. 38,3

9. 86,209

10. 21,79

11. 113,857

12. 52

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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